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UGC NET 2023 Dec Session Exam_Dec 2023

Application No

Candidate Name

Roll No

Test Date 11/12/2023

Test Time 3:00 PM - 6:00 PM
Subject 20 Hindi

Section : General Paper

Comprehension:

F ST W WS R IS
HUAI-TW =04 & ufavE (%) faaor
=Y & THH
’ 5 I T BO R M
il
A 24% | 18% 15% | 10% | 14% | 19%
B 27% | 15% | 14% | 25% 9% 10%
C 21% | 24% | 16% | 19% 8% 12%

SubQuestion No : 1

+fret ot 7 e # fapet o ed 3 e A Sl A, B el C % B falve e F o s ae
(S), STEET=A (1), WitEwH (T), 99/ (BO), el W (R) &R fafe (M) =1 witer (%) foeem gomian 70 &)
F A, B 37 C 91 e 219 HHY: 80 @FE §94, 90 TME $93 51 75 o T § ) iR W fEy s

U e W e R o A % e T e % R
(1) 76.2%
(2) 96%
(3) 125%
(4) 131%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029713
Option 1 ID : 878270117045
Option 2 ID : 878270117046
Option 3 1D : 878270117047
Option 4 ID : 878270117048
Status : Answered
Chosen Option: 3
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Comprehension:
+fret ot 7 e # fapet o ed 3 e A Sl A, B el C % B falve e F o s ae

(), TrETEA (1), WEEE (T), 94 (BO), Tl T (R) &R fafaw (M) =1 wftem (%) faem geifan 0 &)
F A, B 37 C 91 e 219 HHY: 80 @FE §94, 90 TME $93 51 75 o T § ) iR W fEy s

F ST W WS R IS
HUAI-TW =04 & ufavE (%) faaor
=Y & THH

. ’ 5 I T BO R M
il

A 24% | 18% 15% | 10% | 14% | 19%

B 27% | 15% | 14% | 25% 9% 10%

C 21% | 24% | 16% | 19% 8% 12%

SubQuestion No : 2

Q.2 * ® = =
= shufaal = stedEE W sl =y faa € 2
(1) 122 &g &9
(2) 153 @rg T
(3) 164 @rE ¥H
(4) 175 @@ T
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
87827029714
878270117049
878270117050
878270117051
878270117052
Answered

2




Comprehension:
+fret ot 7 e # fapet o ed 3 e A Sl A, B el C % B falve e F o s ae

(), TrETEA (1), WEEE (T), 94 (BO), Tl T (R) &R fafaw (M) =1 wftem (%) faem geifan 0 &)
F A, B 37 C 91 e 219 HHY: 80 @FE §94, 90 TME $93 51 75 o T § ) iR W fEy s

F ST W WS R IS
HUAI-TW =04 & ufavE (%) faaor
=Y & THH

. ’ 5 I T BO R M
il

A 24% | 18% | 15% | 10% | 14% | 19%

B 27% | 15% | 14% | 25% 9% 10%

C 21% | 24% | 16% | 19% 8% 12%

SubQuestion No : 3

Q3 ot C @ s W o R A deE w s A o, afersk o1 %A B2
1y 80
2 100
(@) 125
@ 150
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827029716
Option 1 1D : 878270117057
Option 2 ID : 878270117058
Option 3 1D : 878270117059
Option 4 ID : 878270117060
Status : Answered
Chosen Option : 4




Comprehension:

F ST W WS R IS
HUAI-TW =04 & ufavE (%) faaor
=Y & THH

. ’ 5 I T BO R M
il

A 24% | 18% | 15% | 10% | 14% | 19%

B 27% | 15% | 14% | 25% 9% 10%

C 21% | 24% | 16% | 19% 8% 12%

SubQuestion No : 4

Q.4
(1) 9.6 @rE ¥F
(2) 11.1 om@ ¥
() 124 TE ¥4
(4) 134 @ ¥9H
Options 1. 1
2.2
3.3
4.4

= & 7 e W ot B e A 3 S A St A, B 2 C % v falie wen e suig g
(), TrETEA (1), WEEE (T), 94 (BO), Tl T (R) &R fafaw (M) =1 wftem (%) faem geifan 0 &)
F A, B 37 C 91 e 219 HHY: 80 @FE §94, 90 TME $93 51 75 o T § ) iR W fEy s

FIH-A % A7 W =7 3R FIA-B F F= 9 W = F 6y feRa SR § 2

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :

Option 4 ID
Status

McQ
87827029712
878270117041
878270117042
878270117043

: 878270117044
: Answered
Chosen Option :

2




Comprehension:

F ST W WS R IS
HUAI-TW =04 & ufavE (%) faaor
=Y & THH
. ’ 5 I T BO R M
il
A 24% | 18% | 15% | 10% | 14% | 19%
B 27% | 15% | 14% | 25% 9% 10%
C 21% | 24% | 16% | 19% 8% 12%

SubQuestion No : 5
Q.5

(1) 5:4
(2) 6:5
3 7:6
(4) 8:7
Options 1. 1
2.2
3.3
4.4

= & 7 e W ot B e A 3 S A St A, B 2 C % v falie wen e suig g
(), TrETEA (1), WEEE (T), 94 (BO), Tl T (R) &R fafaw (M) =1 wftem (%) faem geifan 0 &)
F A, B 37 C 91 e 219 HHY: 80 @FE §94, 90 TME $93 51 75 o T § ) iR W fEy s

A A F STTEEA T S SR I B ¥ ufeed W ey H1 SR foha € 2

Question Type :
Question ID :

Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

McQ
87827029715

: 878270117053
: 878270117054
: 878270117055
: 878270117056
: Answered

Chosen Option :

2




Q.6

-1 | e e il
Hel-1 geff-11
(Feaie & W) (=% =)
(A)  TAFE e () fora seEeE =) sty F feenfdi =1 sformm wfs = o
FLA
(B) TR HEAEA () fonfeRT % siferma & wasiEl o SAwied HR0 H S
(C) HwHawe: HeaiEn (L) W == ol S
(D) TerTeE Heais (TV) ek Sheforer and a1 Grame o1 aigsesd o o7 | Taened =1 g

A

=1 oo o foered W T 399 | =99 Fiiaw

(1)
2
3)
O

(ALY, (B, (C)-(1), (D)-(1V)
(A)-D), (By-(I), (C)-(1II), (D)-(IV)
(A)IV), (B)-(1), (C)-(1), (D)-(111)
(AL, (B)-(I), (CHIV), (D)-(IT)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029718
Option 11D : 878270117065
Option 2 ID : 878270117066
Option 3 ID : 878270117067
Option 4 ID : 878270117068
Status : Answered
Chosen Option : 4
Q7 o (1): 39 fied o dio F SEim g R ¥
HAA (1) : UL § Fo TR F1 Aeh-eRIEN 1 AU 8 & alF Shia sl YRy o = w5 |
FHIE FA F A 1, 99 oy o fawed] § § Wl w991 Fiiau:
(1) e 13 wmae 1S 9
(2) YT 1SR wAE U A sEE B
(3) RO 1 H §, it e 11 #6e ©
(4) AT HEE T, AT HET 1L HE §
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029744
Option 11D : 878270117169
Option 2 ID : 878270117170
Option 31D : 878270117171
Option 4 1D : 878270117172
Status : Answered
Chosen Option : 4




Q.8

freafafaa @ o foren o T saRy
Yool G wifaEE 91
Hel SrSRdamG! shifasprd o |
= fou gt snrsrRamETer w4 91"

(A) ¥R YE] H Tehay
(B) W% ufeF 1 qhe
(C) wifaafta wea o1 dehay

(D) Aok SYRERR] 3 qeham

= fou U fosed § & W& S9Y 1 99 Fife:
(1) e (A) 3R (B)

(2) e (B) ST (C)

(3) A (C)

(4) = (C) 3 (D)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029737
Option 11D : 878270117141
Option 2 ID : 878270117142
Option 3 ID : 878270117143
Option 4 ID : 878270117144
Status : Answered
Chosen Option : 4
Q.9 \Which one of the following is an essenlial requirement for the formation of photochemical smog ?
(1) Water vapour
(2) Sunlight
(3) High temperature
(4)  Snow
Options 1. 1
2.2
3.3
4.4

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

McQ
87827029747
878270117181
878270117182
878270117183
878270117184
Answered

2




Q10 53 o R B
HAT (1)« TR - o1 & ofd e s1iTE B € 8T ST TeEm @ oo o fe e E
T (1) : TFoiR gaedl 77 T o agdl Sfeem 797 Faas F o F g w5 e oo
FIA T AE
TR A 6 e H, G e fawedi § 4w s s wifew
(1) =71 FAT 1 TH 9 F
(2) U1 ST A 1A e €
(3) HIF1EA T, T FAT U 5 T
(4) HITI TG T, TAEIHEAN T T

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827029720
Option 11D : 878270117073
Option 2 1D : 878270117074
Option 31D : 878270117075
Option 4 ID : 878270117076
Status : Answered
Chosen Option : 1

Q1 gy 3 o o &

T (1) T e A 2020 F SPHE WETE I [ SEm (CEEESE) W U S Je e
ufigs (ST, T fasn e & wearet & fe swrwrE o

T () : TEE Toear T 2020 3 &R 15 91 # FEASE F ST SOEG aien 3 Foted gere
31 S TP U WA el G TS -9 S A g 5= weE!
Ecenieandl

TR FA 2 ACE H, A T T e § § wE I g9 i

(1) e 1 3l w1 A e

(2) e 1 & e 1A s ©

(3) RS 1T & S e 1 A §

(4) U1 o ¥, wfET e 11 T §

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827029752
Option 1 ID : 878270117201
Option 2 1D : 878270117202
Option 3 1D : 878270117203
Option 4 ID : 878270117204
Status : Answered
Chosen Option : 4




Q.12

R wfaE w1 gere § fefafaa § SH-8 gog %1 seom 76 e g ?

() ==
(2) HHTd
(3) H=H
(4) T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029753
Option 11D : 878270117205
Option 2 ID : 878270117206
Option 3 1D : 878270117207
Option 4 ID : 878270117208
Status : Answered
Chosen Option : 3
Q'13 ¥ et a -
frfafe aai § | Fa-ar fagesdg 272
(1) 9rfEs - 232
(2) TERITEH - 239
(3) Ej?i:‘lqu - 237
(4) AIEH - 238
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029748
Option 11D : 878270117185
Option 2 ID : 878270117186
Option 31D : 878270117187
Option 4 ID : 878270117188
Status : Answered
Chosen Option: 3




Q14 ot sremert & faenfdi & SAoe i Gawal 9 o1 ST gifad w01 Tt S = areas
TTE I STV F AT E, 0 Fwom 57

(1) E=EH e
(2) e waE
(3) TR o e
(4) mfaurft =1 gairs
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029723
Option 11D : 878270117085
Option 2 1D : 878270117086
Option 31D : 878270117087
Option 4 1D : 878270117088
Status : Answered
Chosen Option: 3
Q.15 i 3 -
= & T ofmen # weTaress 5 (7) B PE-H wen et we ?
a1, 37, 41, 43,47, 53,7, &1
(1) 58
(2) 57
(3) 59
4) 56
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029732
Option 11D : 878270117121
Option 2 1D : 878270117122
Option 31D : 878270117123
Option 4 1D : 878270117124
Status : Answered
Chosen Option : 2




Q.16

o fafeegn fogm (vl vy, ) frges R e 2
(1) W=7 1 SO/ER

(2) foa i e

(3) Y99 W gfud 5 # g

(4) YEEEE 99 & H Wod Bl

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029749
Option 11D : 878270117189
Option 2 ID : 878270117190
Option 3 ID : 878270117191
Option 4 ID : 878270117192
Status : Answered
Chosen Option : 4
Q17 Which of the following constitute the selectivity process in mass communication ?
(A) Selective suppression
(B) Selective attention
(C) Selective perception
(D) Selective relention
(E) Selective ignorance
Choose the correct answer from the options given below :
(1) (A), (B) and (C) Only
(2)  (B), (© and (D) Only
() (©), (D) and (E) Only
@  (A), (D) and (E) Only
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029729
Option 11D : 878270117109
Option 2 ID : 878270117110
Option 31D : 878270117111
Option 4 1D : 878270117112
Status : Answered
Chosen Option : 2




QI8 il e S st Wil & SR TEEA O 1y, 1y, vy S, 2 TR Y s

PR FE 0,97, 0.95, 0.10 R 0.03 WF FIAT T T HA W AEGIS TH 5% TR AEF § 2

)
(2)
(3)
)

*
La
T3
Ty

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029726
Option 11D : 878270117097
Option 2 ID : 878270117098
Option 3 ID : 878270117099
Option 41D : 878270117100
Status : Answered
Chosen Option : 2
Q19 gy em o &
FAT (1) : HAW T F A= sl qesiE wa wit & g § g dferd 3 S
&l
U (1) : AR T FATSHRT SR E |
THETE FYA F s 1, A T m famed § ¥ w6 w7 Fire
(1) =g 13 HwuT 3 9
(2) U 13T w11 S 5T
(3) YT 1T T R WU 3
(4) RE 1 9 ¥, oichA e 11 9 §
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029730
Option 11D : 878270117113
Option 21D : 878270117114
Option 31D : 878270117115
Option 41D : 878270117116
Status : Answered
Chosen Option: 3




Q.20

T
L

2
3

()

W g 24§ o afrentn femell s faifrer sie-afa 4 Fo g w g e @ gm aww £

T arfem WEAT % T R w0 g FrefeEe § B wE w6 82

wrere % e fafde sl &1 s 0 eravas argads o snvismy fanEs i F 8 OO
TR T e |

TS TR 1 FH I S fawnfedi @ UE wrnl ver wen e e o e =)
e A o e sfie 2 wmiife wiewed % s H e Aniey S Sl HaNa & gar
Ternfeldi =1 frenfis w2 ¥

Terenferi =1 faféw =l i whami #7 SFwER | TEE H gHie )

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029719
Option 11D : 878270117069
Option 2 1D : 878270117070
Option 3 1D : 878270117071
Option 4 1D : 878270117072
Status : Answered
Chosen Option: 3
Q21 o o e
R (I) :  SEER W F SETEF (SR T SHL T W a9 wien ¥ S 9 23 E
e (1) : STH=T AEAT 3 ReR S S % gSeht % @ Wi 7 off o w €
B FYA % e 4, A= faw e fawedi § O w9t =1 =it
(1) HeF1AR HeT U SH T
(2) U 1 & e 1 S o ¥
(3) YA 1 TA E, WET HUA 1 T €
(4) HEATTOE T, AFTHETNTHE
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029731
Option 11D : 878270117117
Option 21D : 878270117118
Option 31D : 878270117119
Option 4 ID : 878270117120
Status : Answered
Chosen Option: 3




Q22 frfofan ¥ farmat s # WRE TR T THE 1948 # Favataenem fwn s %1 T e a2

(1) = =
(2) ot A STEE FE S
(3) =L TEFETH
(4) =L T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029754
Option 11D : 878270117209
Option 2 ID : 878270117210
Option 3 ID : 878270117211
Option 4 ID : 878270117212
Status : Answered
Chosen Option: 3
Q.23
i1 # wei-u = frem s
-1 -1
( ¥feres =rear ) ( feraTor)
(A) TETETA () Tora™ 48 =f =1 TSTsAT 91 9R 9ei 1 ereaEd g fa
(B) =g (I foe 36 ol o1 WETER A1 e A 96 F1 seEad o fea
(© == (1) oy 24 aif @1 wreen @1 1 &1 A6l @1 s o fEa
(D) enfee (1v) Eieiid Turre
e fau o famrel § | wd FWT 1 =T Ffew
(1) (A1), B)-IV), (O)-(1), (D)~(II)
(2)  (A)-(1), (B)-(L), (O)-(1L), (D)-(IV)
(38)  (AIV). (B)LI), (O)-(ID), (D)-(T)
@) (A)D, (B, (O){1V), (D)-(II)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029755
Option 11D : 878270117213
Option 2 ID : 878270117214
Option 31D : 878270117215
Option 4 ID : 878270117216
Status : Answered
Chosen Option : 3




Q.24

(&)

(B)

()

anegfe e gt 8§ vafad % waw o farfafaa § 9 %8 98 %A i 28 2

ries e H e are fefoen F quian s € siefe deien seafEn § e Fuaien faes o
e H gt STE1 2 )

wifefafy =1 o T H Tam, T o T s we Al gt (fearem) o= T e w5 e #i
T RT USHA ol S SH 221 ] W §, I TR ((WIMAX) T U S8

AEH I S T WA, T FELYA ST S e A 3 I e Al ey %
w1 H A e Ea 8, 39 s v feed (sieduy) e g

<t o e Toeredi # & Wl 59 o =gA Fin;

L F9 (4
2 ¥ (B)
(3) W (A) ST (C)
@ = (B) S (C)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029745
Option 1 ID : 878270117173
Option 2 ID : 878270117174
Option 3 ID : 878270117175
Option 4 ID : 878270117176
Status : Answered
Chosen Option: 3
Q.25 :
wfasnfiadi % fady % = §, frafafes § SH-a1 9€6 2
(1) afg A = e TR T e O sAfEnfE €
(2) afg E % TTeT ST T g e €
(3) A 1 TE @ T E; A T B
(4) =fgO =l T T T §; ETe B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029739
Option 11D : 878270117149
Option 2 ID : 878270117150
Option 3 ID : 878270117151
Option 4 ID : 878270117152
Status : Answered
Chosen Option : 3




Q.26 frefafaa i @t Sfvees ar geomar (S gseg W) %1 TE S %9 $E-91 7 ?

(A) ELE AFES (N,O)

(B) T TRIAHES (CO,)

(C) AT (CH,)

(D) AR FEA (CFC)

e fou o fowedl § | W& S9Y F =g it
@ &) @), (©), D)

2 @A) ©, (B) (D

3) (B, (A), (©) (D)

4) (8. (©), (A) (D)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029750
Option 11D : 878270117193
Option 2 1D : 878270117194
Option 31D : 878270117195
Option 4 ID : 878270117196
Status : Answered
Chosen Option : 4
Q27 g v sfven e @1 A SEaRER # W A AR 6 W @ @ FEeR AR b
AER T Bl &, 78 P Fee € 2
(1) T =Ee =8
(2) FHES T
(3) T wmEE w2
(4) wFae sEgeA
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827029724
Option 11D : 878270117089
Option 2 ID : 878270117090
Option 31D : 878270117091
Option 4 ID : 878270117092
Status : Answered
Chosen Option: 3




Q.28

20 & I o ARy # R feEiemea @fuiem & sfuie F O Fetatea § 9 e g a?

(1y g i
(2) wTE F=T
(3 —=TE
(4) oS e
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029756
Option 11D : 878270117217
Option 2 1D : 878270117218
Option 31D : 878270117219
Option 4 1D : 878270117220
Status : Answered
Chosen Option : 2
Q.29 What is the limit of water availability for a region to be classified as water scarce region ?
(1)  Less than 2500 m’/person/year
(2) Less than 2000 m®/ person/year
(3)  Less than 1500 m®/ person/year
(4)  Less than 1000 m3/ person/year
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029751
Option 11D : 878270117197
Option 2 1D : 878270117198
Option 31D : 878270117199
Option 4 1D : 878270117200
Status : Answered
Chosen Option : 2




Q.30

frfafeaa & S gurst fram 8 Jersy savdeRd © 2

1) Toenferi o &= safadma fararsti =1 SUam o
) T gErE i et

3)  ArRaReR foreror fafeEi = g
)

(4) TISTIEE AEGYMI i g8 HHfad
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029721
Option 11D : 878270117077
Option 2 ID : 878270117078
Option 31D : 878270117079
Option 4 1D : 878270117080
Status : Answered
Chosen Option : 2
Q.31 Tt-1 | g1 = e it
Hel-1 -1
(|TFE 3EF ) ( foarzur )
(A) TEET M vl (ged) F SR SEE e w0 F e el
FALIEZ W T B ST HI F 0 SHE Y
(B) TR (i) 7= & ST AEEE oE #9 % e 3wl dadEe 1w
YATRTeT 9 g AT S99 S T HE S FO
(C) TFEmam () ‘=1 TEm e e oI = di we W e % e = Em e
S AT -
(D) ThIfEM (V) Frel e 3 =@ ) wueE (FR) Hh TEE S HIE e i
aH Feftst e
== oo o foered A Tl 39 B A FiTe
(1) (A)(II), (B)-(T), (C(IV), (D)-(IT)
(2)  (A)-{1D), (B)-(I), (C)(IV), (D))
(3) (AL, (B)-(11), (©)-(1V), (D)LL)
(4)  (A)-(I), (B)-(IV), (C)-(D), (D)-(I)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029746
Option 11D : 878270117177
Option 2 ID : 878270117178
Option 31D : 878270117179
Option 41D : 878270117180
Status : Answered
Chosen Option: 3




Q.32

In a certain coding language :

(@
(b)
(©

"tee see pee’ means ‘drink fruit juice’
‘see kee lee” means “juice is sweet’
‘lee ree mee” means ‘he is intelligent’

Which word in this language means ‘sweet’ ?

(1) ‘pee
(2) ‘kee’
(3) ‘lee
(4) ‘mee’
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029736
Option 11D : 878270117137
Option 2 ID : 878270117138
Option 3 1D : 878270117139
Option 4 ID : 878270117140
Status : Answered
Chosen Option : 2
Q33 o sy T T A R 4T T 2016 B I AR o = A % 2286 B S T | JoTHE 7
(1) ¥ 1800
(2) % 1700
(3) w1900
(4) ¥ 1850
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029734
Option 11D : 878270117129
Option 2 ID : 878270117130
Option 3 ID : 878270117131
Option 4 ID : 878270117132
Status : Answered
Chosen Option : 2




Q34 FmgT(1): (499), = (111110011),
TYT (1) : (1011101), = (93),,
IR FUA F AEF 1, 74 e T fawedt # | W 3w 79 Hifw
(1) HUTIR H/EA NI TF ©
(2) YT HAT 1 SH A §
(3) THYT1TA T, fF wAT I 370 ©
(4) THY 1 SEA T, WK HAT I FH T

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827029743
Option 1 ID : 878270117165
Option 2 ID : 878270117166
Option 31D : 878270117167
Option 4 ID : 878270117168
Status : Answered
Chosen Option : 1

Q35 @it ) sxmemeon % s § Frferfiaa # 4 B oE T §2
(A) w3t mum w9 ¥ fAfed o w1 wae S a2 awe ) fas an e F wefia e e
% %1 e @ I
(B) VOIS WO WS 6 IO S Ao, 2 279 26 E
(©) ™R = Fad T e i w e
(D) i % Fir= Toned 2 weRn ¥ g el W e B
== fom o fomre H § Tl IR W =g i
(1) e (B) 3 (D)
(2) = (A) 3 (B)
(3) = (B)
4 ()
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Question ID : 87827029738
Option 11D : 878270117145
Option 2 ID : 878270117146
Option 3 1D : 878270117147
Option 4 ID : 878270117148
Status : Answered
Chosen Option : 4




Q.36

A < e faw T &

WA (I): &4 97 YISk d el W gEia fre o €)1

YT (I1) : HHT (Moocs) Fael =T § 39e €

T FYA % STk H, Ji4 U T fasketi § 9 wdt $9T 99 Hitaw

(1) e I 3R Ha 1 <A T ©
(2) A1 3R w11 T 370 €
(3) M I T T, TIfhd o 11 379 §
(4) YT AEA T, AlpA AT TA B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029717
Option 11D : 878270117061
Option 2 ID : 878270117062
Option 31D : 878270117063
Option 4 ID : 878270117064
Status : Answered
Chosen Option: 3
Q.37 . )
forelt W # eraffed TEw F Ao gfte | el o €
(1) /e (J=+1) eyl
(2) I Hew
(3) eFfireE Few
(4)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029728
Option 1 ID : 878270117105
Option 2 ID : 878270117106
Option 31D : 878270117107
Option 41D : 878270117108
Status : Answered
Chosen Option : 4




3 fretferfia # & W ot (v S SR g A T w S g T8 32

(1) LAN - dd T qeEs
(2) MAN - Herifee o Tead
(3) WAN - rES U Ak
(4) VPN - T TEIA "2ah
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029742
Option 11D : 878270117161
Option 2 ID : 878270117162
Option 31D : 878270117163
Option 4 ID : 878270117164
Status : Answered
Chosen Option : 2
Q-39 v e (i) 30 Pl Wit o2 A i & frcell 9 o =1 Ama1 A ¥ 9 90 e wfa w2 =
AT A & AfE O B He gEAEty 8 W € 6 06 g a9 &1 S e gl 99 it |
(1) 480 fermt
(2) 240 fesit
(3) 360 et
(4) 280 ferHi
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029735
Option 11D : 878270117133
Option 2 ID : 878270117134
Option 31D : 878270117135
Option 4 1D : 878270117136
Status : Answered
Chosen Option: 3




Q.40

e TeeR Tamy faqem ®, frfafes & 9 SH-31 9t am ?

(A) WIH > FEAR

(B) @geleh > HifeHe

(C) W= > Hifeae!

(D) wEHF > WA

(E) HIfessh! > Hed

= feu o fawedl § o WaE S9 1 999 Hie:
(1) e (B) 3 (D)

(2) FaE (A) Q)

(3) e (A) 3R (B)

(4) e (D) R (E)

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029725
Option 11D : 878270117093
Option 2 ID : 878270117094
Option 3 ID : 878270117095
Option 4 ID : 878270117096
Status : Answered
Chosen Option : 2
QAT orar) 5 v ot o Feven & o g iy Ry o1 g 72 4 17 7 Five @ 55 e am 31§ it
= forsm % 20 ez T T foere €1 o1 foger 3 g S e o5 ere 706 9 SE B 5 fagw =
T A T |
(1) 70 ==
(2) 195 &
(3) 130 &=L
(4) 210 &3
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029733
Option 11D : 878270117125
Option 2 ID : 878270117126
Option 3 1D : 878270117127
Option 4 ID : 878270117128
Status : Answered

Chosen Option :

1




Q.42

IEUA (3AE) &F Hed # 1o v H e ue o) sufefa Fr s €

(1) et
(2) =t
(3) G
(4) 94
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029740
Option 11D : 878270117153
Option 2 ID : 878270117154
Option 31D : 878270117155
Option 4 ID : 878270117156
Status : Answered
Chosen Option : 2
Q43 When individuals post journal-like entries on the Internet, they are known as :
(1) Advisory Columns
(2) Net Opinions
(3) Weblogs
(4) Digital Stories
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029727
Option 11D : 878270117101
Option 2 ID : 878270117102
Option 31D : 878270117103
Option 4 ID : 878270117104
Status : Answered
Chosen Option : 3




Q.44

ST Ffe & et H fefefes § i wd 48 €2

(A) Afg snuR o | € a1 Freed Sarer: wd S g

(B) Frerd Henfasr w9 F snuR Rl 1 SAIEH F T

(C) THF! T 7l & foF oo are |el 2 oI freaed 7er 21 |
(D) = s7Hve € fop it sem ame |t & @R e wrera &1
Fra1 faeu o forredi § W@ W A T Fifew:

(1) e (A) SR (B)

(2) =d (B) R (O)

(3) ad (C) ¥R (D)

@) =@ (D)

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 2 1D :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
87827029741
878270117157
878270117158
878270117159
878270117160
Answered

1

QA5 oz a1 3 Fgifer ol 1 T wed ¥ TR oo § SISl 3 Y s e, A s S
T B TR w1 e ?
(1 =m
(2)  wEmE
@
(4) Temfary
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status
Chosen Option :

McQ
87827029722
878270117081
878270117082
878270117083
878270117084

: Answered

2




Comprehension:

Frefefiae wraror =67 ufqu si faw T wwAl & = i

AT TF AY-Torame & = S F =El | WA e o A 8 e it e w®
T aTRIE Hudl 1 Tom #1 Tavre wiie U oW w7 S farg g o wieens ¥ W gen
SRS T SfeeF Tt 9 TH sEEETE & WeE T aeE ¥ WY g § 1 S e 9g W
oo Hi 4 ag gete 9 v § fob gl 1 qern J wieant | 99 1 59 9 fave o e
AT 1 WfevE ¥ 39 5 ufae | feend seet Sedl 2 WS v W ¥, S=hE Fe weEaty F a0
Wi wieard F0dl € 5% o A F1 6 10 HowE 9 o &1 SR feafa s g it s
e = afire & ol Fesrt o1 60 fasra mfewmd ¥ o modt yrowierd =7 80 i wfeemd 21 9t faws
o et & SR a2 HEvTE ger B

Torer =it it T fefm-Ha e 1 S T ST F A o A T | e AR T
i aTifefen quiiferi o shrerto 1 @ir 39T e & foee yafs afeena % fom sresafavrgm feaft 4o
FAA & T T F 5w TE g i e § e ge i ( SIEunnE) e fava i g
ST Tt @ T HEST 3 e e A o an F s e 8 v e
Trafe yomerm 4 ¥ =0 Weigd F FTEA R Sl wiea e, SR The o werd s gfre 5
AT S ¢ TF e e F o F w5 § 5 aleeed 5 9w 26 7 eE 9 8
whreeE! H wigenel 1 qriierl # w= gh % o o o st e 1 fafe w9 § S s
ST FE9E Uy =

SubQuestion No : 46

Q46 5 & oo g ¥
T () ;S Wi S0 s gonferd @ e wala wfersi % fon v sevafaum fuf
e FIAT B
YT (1) : Fzd AT F AEEA’ § erwrE qer wm (emunnE) @in fave d g s e
afelen fererr Hiferdl =01 e &
TYE U e 4, A e famedt # ¥ wdt I =g it
(1) w130 wmAT DA O &
(2) YT 1 @i e 11 SHi wrEe
(3) WU 1 H &, A e 11 o
(4) HET1ATH T, AEA HAT U FA B
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

McQ
87827029762
878270117237
878270117238
878270117239
878270117240
Answered

4




Comprehension:

Frefefiae wraror =67 ufqu si faw T wwAl & = i

AR T AiY-THER € S B & S § EEeE e O e A § e SR e
T aTRIE Hudl 1 Tom #1 Tavre wiie U oW w7 S farg g o wieens ¥ W gen
STHAATEAT TN Sy TG 9 T TEEETE F 99 W TN W g 2§ Sfres S 5E W
oo Hi 4 ag gete 9 v § fob gl 1 qern J wieant | 99 1 59 9 fave o e
AT 1 WfevE ¥ 39 5 ufae | feend seet Sedl 2 WS v W ¥, S=hE Fe weEaty F a0
wigre e afeard w0l € S Fel 9 o1 T 10 FawE W g &) SR fefd g i e
e = afire & ol Fesrt o1 60 fasra mfewmd ¥ o modt yrowierd =7 80 i wfeemd 21 9t faws
o foin & sEn W 4TvE WO B

Torer =it it T fefm-Ha e 1 S T ST F A o A T | e AR T
i aTifefen quiiferi o shrerto 1 @ir 39T e & foee yafs afeena % fom sresafavrgm feaft 4o
A SR 7 F T A T F i § o 9w Y () SN e i gr
SHARTT TRt @A WA F A EEE A oiR oM ot e | uitEd w5 e 5
Trafe yomerm 4 ¥ =0 Weigd F FTEA R Sl wiea e, SR The o werd s gfre 5
AT S ¢ TF e e F o F w5 § 5 aleeed 5 9w 26 7 eE 9 8
T H Aigenel TG e wd % A i S ST S # faf w6 6 e s
ST FE9E Uy =

SubQuestion No : 47

Q.47
ufeensil =1 S srmTET 3R YguTd 1 GWET A TS €
(1) Towmmehe <o o
(2) fowfaa o
(3) lowad
(4) Ffus senfeiga Tam o
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 1 1D
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McQ

: 87827029758

: 878270117221
: 878270117222
: 878270117223
: 878270117224

Answered
4




Comprehension:
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T aTRIE Hudl 1 Tom #1 Tavre wiie U oW w7 S farg g o wieens ¥ W gen
STHAATEAT TN Sy TG 9 T TEEETE F 99 W TN W g 2§ Sfres S 5E W
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AT 1 WfevE ¥ 39 5 ufae | feend seet Sedl 2 WS v W ¥, S=hE Fe weEaty F a0
wigre e afeard w0l € S Fel 9 o1 T 10 FawE W g &) SR fefd g i e
e = afire & ol Fesrt o1 60 fasra mfewmd ¥ o modt yrowierd =7 80 i wfeemd 21 9t faws
T Tl F SHE T EE oo ¥

Torer =it it T fefm-Ha e 1 S T ST F A o A T | e AR T
i aTifefen quiiferi o shrerto 1 @ir 39T e & foee yafs afeena % fom sresafavrgm feaft 4o
A SR 7 F T A T F i § o 9w Y () SN e i gr
SHARTT TRt @A WA F A EEE A oiR oM ot e | uitEd w5 e 5
Trafe yomerm 4 ¥ =0 Weigd F FTEA R Sl wiea e, SR The o werd s gfre 5
AT S ¢ TF e e F o F w5 § 5 aleeed 5 9w 26 7 eE 9 8
whreeE! H wigenel 1 qriierl # w= gh % o o o st e 1 fafe w9 § S s

ST FE9E Uy =
SubQuestion No : 48
Q.48 oy
& FYAT T I BTG |
(A) |t somfefEt B 20 e 7% ¥
(B) 5 ufawd & w1 ufeed T=R Wrel iR G g % Wi w e ¥
(C) |t Frerdl =1 60 wfowr wfeard €1
(D) wfeensii &t g FafEfy & 10 wfaaa 1 43 5w R
(E) TNl 1 el 3T T 90 W9wd 2T Wit S |
A fer o fomed § O W& SEY 1 =99 Hifed:
(1) e (A) 3R (B)
(2) F4 (C), (D) 3R (E)
(3) = (B) 3R (C)
(4) %99 (A), (B), (O) IR (E)
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 3 ID
Option 4 ID
Status :
Chosen Option :

McQ

: 87827029760

878270117229

: 878270117230
: 878270117231
: 878270117232

Answered
3




Comprehension:

Frefefiae wraror =67 ufqu si faw T wwAl & = i

AT TF AY-Torame & = S F =El | WA e o A 8 e it e w®
T aTRIE Hudl 1 Tom #1 Tavre wiie U oW w7 S farg g o wieens ¥ W gen
SRS T SfeeF Tt 9 TH sEEETE & WeE T aeE ¥ WY g § 1 S e 9g W
oo Hi 4 ag gete 9 v § fob gl 1 qern J wieant | 99 1 59 9 fave o e
AT 1 WfevE ¥ 39 5 ufae | feend seet Sedl 2 WS v W ¥, S=hE Fe weEaty F a0
Wi wieard F0dl € 5% o A F1 6 10 HowE 9 o &1 SR feafa s g it s
e = afire & ol Fesrt o1 60 fasra mfewmd ¥ o modt yrowierd =7 80 i wfeemd 21 9t faws
o et & SR a2 HEvTE ger B

Torer =it it T fefm-Ha e 1 S T ST F A o A T | e AR T
i aTifefen quiiferi o shrerto 1 @ir 39T e & foee yafs afeena % fom sresafavrgm feaft 4o
FAA & T T F 5w TE g i e § e ge i ( SIEunnE) e fava i g
ST Tt @ T HEST 3 e e A o an F s e 8 v e
Trafe yomerm 4 ¥ =0 Weigd F FTEA R Sl wiea e, SR The o werd s gfre 5
AT S ¢ TF e e F o F w5 § 5 aleeed 5 9w 26 7 eE 9 8
whreeE! H wigenel 1 qriierl # w= gh % o o o st e 1 fafe w9 § S s
ST FE9E Uy =

SubQuestion No : 49

Q49 g syaimen it 8 ot ST Stk A o, ST e s e e e feg 4 3 feans
v % ZaE € 7
(1) Fi=E s
(2)  sireireterT e ) e
(3) TEEiE Gu # weferEEand

(4)  HYe] AR

Options 1. 1
2.2
3.3
4.4

Question Type :

Question ID :

Option 11D :

Option 2 ID :

Option 31D :

Option 41D :

Status :

Chosen Option :

McQ
87827029761
878270117233
878270117234
878270117235
878270117236
Answered

1




Comprehension:

Pt martsT = ufyw SR fag o e ¥ e i

e U A-TaEeT € S e T S | T faE S A 5 S SR e
T aTRIE Hudl 1 Tom #1 Tavre wiie U oW w7 S farg g o wieens ¥ W gen
STHAATEAT TN Sy TG 9 T TEEETE F 99 W TN W g 2§ Sfres S 5E W
oo Hi 4 ag gete 9 v § fob gl 1 qern J wieant | 99 1 59 9 fave o e
AT 1 WfevE ¥ 39 5 ufae | feend seet Sedl 2 WS v W ¥, S=hE Fe weEaty F a0
wigre e afeard w0l € S Fel 9 o1 T 10 FawE W g &) SR fefd g i e
e = afire & ol Fesrt o1 60 fasra mfewmd ¥ o modt yrowierd =7 80 i wfeemd 21 9t faws
T Tl F SHE T EE oo ¥

Torer =it it T fefm-Ha e 1 S T ST F A o A T | e AR T
i aTifefen quiiferi o shrerto 1 @ir 39T e & foee yafs afeena % fom sresafavrgm feaft 4o
A SR 7 F T A T F i § o 9w Y () SN e i gr
SHARTT TRt @A WA F A EEE A oiR oM ot e | uitEd w5 e 5
Trafe yomerm 4 ¥ =0 Weigd F FTEA R Sl wiea e, SR The o werd s gfre 5
AT S ¢ TF e e F o F w5 § 5 aleeed 5 9w 26 7 eE 9 8
whreeE! H wigenel 1 qriierl # w= gh % o o o st e 1 fafe w9 § S s

3 ey ¥
SubQuestion No : 50
" ufiemd wifera wE i ¥ 2
(A) =76 9 geEl | s gefs 2
(B) == qEdl ¥ HW wftgfne frew €1
(C) 3 #n uftafoes et sifursr ua o H1d FI € |
(D) 3 ¥l I g H FH HER B
(E) 3Tk WIH TR g Hifdd ¥
e feu o fosredi § 4 T SHY 1 994 Fife
(1) = (A), (B) 3T (©)
(2) e (B) SR (D)
(3) 9 (B), (D) M (A)
(4) & (B), (O), (D) #R (E)
Options 1. 1

Question Type : MCQ
Question ID : 87827029759
Option 1 ID : 878270117225
Option 2 ID : 878270117226
Option 31D : 878270117227
Option 4 ID : 878270117228
Status : Answered
Chosen Option : 2

Section : Hindi
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(B)
©)
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(E)
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2
(&)
“)
Options 1. 1
2.2
3.3
4.4

" SR o7 A e W A FH B e § oS o FH A SAACT FIC ;
grer foat # 28 W T %1 St Wi e S | ot | Ien! gH Ted 90 R e
L Shae A 8 919, T Tt 8, T IS TREd o |

10 W79 TR ST | 379 STEr Sf S

wel & foru avaret w@iel | @y 3 slive s 21 el freeer s )
sie; o) o Srar, fo U = ST €, 31 S o U gHg T
Td A 2 A, W 2, R 9 TR

=1 fou 0 faemed H 9 Wl 3T S =0 R

(E), (A), (©), (D), B)

(©), (B), (A), (D), B)

(©), (A), (B), (D), (B)

(A), (©), (B). (E), (D)

Question Type
Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

: MCQ

: 87827029845

: 878270117569

: 878270117570

: 878270117571

: 878270117572
Status :

Chosen Option :

Answered
2

Q.52

(1

(2)

(3)

4)

Options 1. 1
2.2

3.3

4.4

=T T YA A el Afee w1 sfaer o Sfeefters s STaHRT BT S G0 S i At i
uTE =T Al T gfifeafs = e R

Question Type

: MCQ
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

87827029770
878270117269
878270117270
878270117271
878270117272
Answered

1
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T S we T 7

(1) T=EFE
(2) . e Wy
(3 =X
4 =
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029773
Option 11D : 878270117281
Option 2 1D : 878270117282
Option 3 1D : 878270117283
Option 4 ID : 878270117284
Status : Answered
Chosen Option : 4
Q.54

‘o e o A R W W S e

(A) T T ATEHF T A o -0 B a9
(B) @=TSI A ST HHER 2 e el w1 wiies ‘Siae T argrend) #' wwtaa e e
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(D) = Tsig goE 3 o st fear § for wmen wivam e g o
(B) == Sl % it 3T e S o faes o Emea $aY wam’ ST e S 6 e A
A fau o fosrei o 0 W& I B 9 wie
(1) F=E (A), (B) (O
(@) % (A), (© (D)
@) ¥ (A), (B), (E)
() = (B), (), (D)
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

MCQ
87827029824
878270117485
878270117486
878270117487
878270117488
Answered

2
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(1) sfen dg

(2) =g

(3)  TomErFRIEw vy

(4) e
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Question ID : 87827029799
Option 11D : 878270117385
Option 2 ID : 878270117386
Option 31D : 878270117387
Option 4 ID : 878270117388
Status : Answered
Chosen Option : 4

Q56 5 & e frw e ¥ -
FA (1) o A A9, AHAIE, HEA o Hew ofE TREh § I SERTRE fHe @i
Sretfres wifeeg Hefem
WU (1) : a1 Ha U el 1 =Ed W e e g9 afiew | g
ST FUA F AEE 1, A 5 e fawedt § 3 w39 # wE Fie
(1) a1 w1 A 9 F
(2) YT 13 HAT 1T FEA F
(3) YT 1TA T R wUT 1 3
(4) AT HEA ¥, TR w1 HA €
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 87827029849
Option 11D : 878270117585
Option 2 ID : 878270117586
Option 3 1D : 878270117587
Option 4 ID : 878270117588
Status : Answered
Chosen Option : 3
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wEm E - T T T 2

(1) e S
@ W
(3 =
(4) Taferm s
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029778
Option 11D : 878270117301
Option 2 ID : 878270117302
Option 31D : 878270117303
Option 4 ID : 878270117304
Status : Answered
Chosen Option : 4
Q58 gt 3 e  Frfafan weE § v woA ¥
(A) = Tavaae & warEn e A T S A IR SEIEE Y T8 ol ¢ i
A T W Al s & gw e
(B) wEFE % Irpan eren aiY e # atfusn SR % S e SR & gR A, aree
e e R el icks | R B 1 e A
(C) s1fvea T o STEn,  wreeiteRT g s fafHE o i fae e g mre wis @ S R
(D) ST T I o SER TS i SEAe O 5 W SIS T § IO e o
w2 § @i g 2 A e 3
(B) . il 2 g SRl o 61 319 (T67) 61 2 @ A S (s #1 @ § s ge sl
= apyfr F e
<= fau o fomredi # % W IR 99 Fiww
(1) F99 (A), (B) (©)
(2) = (B), (D), (E)
(3) = (C), (D), E)
(4 ¥ (B), (©) (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 87827029804
Option 11D : 878270117405
Option 2 ID : 878270117406
Option 3 ID : 878270117407
Option 4 ID : 878270117408
Status : Answered
Chosen Option : 4




Q59 gt w6 3 iR fo o 3 el SaR o e S s fipem et 2 o o o i R 2

= feu u faskedi § 9 OF ST &1 999 FifeC

(1) = e ey
(2) ST s E
(3) TFHW ST S
(4) T s st
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